
-8-

41700 - PRONTO TV

U K
ITA  
FR A  
G E R  
S PA  
P O R 

 IN S TA L L ATIO N  G U ID E
G U ID A  A L L’IS TA L L A Z IO N E

G U ID E À  L’IN STA L L AT IO N
EIN B A UA N L E IT U N G
IN S T RU CC IO N E S PA R A  IN STA L AC IÓ N
G U IA  PA R A  A  IN S TA L A Ç Ã O

U K
ITA  
FR A  
G E R  
S PA  
P O R 

 IN S TA L L ATIO N  G U ID E
G U ID A  A L L’IS TA L L A Z IO N E

G U ID E À  L’IN STA L L AT IO N
EIN B A UA N L E IT U N G
IN S T RU CC IO N E S PA R A  IN STA L AC IÓ N
G U IA  PA R A  A  IN S TA L A Ç Ã O

23”

46” 35 kg

77 lbs VESA
400 x 400

C A UT IO N

AV V ER TE N Z A
Q u e st o  p r o do t to  è  s t at o  p ro g e t t at o  pe r  e ss e r e in s t al la t o  su  pa re t i  d i  le g n o   o m u r i  in  
c a lc e st r u z z o . P r im a de l l ' in st a l laz io n e a s sic u ra r s i c h e la su pe r � c ie d i a pp o g g io so st e n g a i l 
c a r ic o  c o m b in a t o de l l ’a pp ar e c c h io  più  i l su pp o r t o . N o n  s u p er a r e m a i la m a ss im a c ap ac it à d i  
c a r ic o . Q u e s t o pr o d o t t o è d es t in a t o so lo pe r u so  in t er n o . 

T h is p r o du c t w as  de s ig n e d t o  b e in s t al le d o n w o o d st u d w al ls an d so l id  c o n c re t e w al ls .
B e fo re  in s t al l in g m ak e s u r e t h e su p po r t in g  s u r f ac e w i l l  s u pp o r t  t h e  c o m b in e d lo a d o f t h e
e qu ip m e n t  an d h a r dw a r e. N e ve r ex c ee d t h e M a xim u m Lo a d C ap ac it y . T h is p r o du c t  is
in t e n d ed fo r  in d o o r  u s e o n ly. U s e o f t h is  pr o d u c t  o u t do o rs  c o u ld lea d t o  p ro du c t f ai lu re  o r  
pe r s o n a l in ju r y .

A D V ER TE N CIA
E st e pr o d u c t o  e s t á d is e ñ a do  pa r a s e r in st a lad o en  la s p ar e de s de m ad e ra  o  pa r ed e s de  
h o r m ig ó n . A n t e s d e la in st a lac ió n , as e g ú r e se  de  qu e la s u p e r �c ie  de  ap o yo  p ar a so po r t a r la 
c a r g a c o m bin ad a de l  e qu ip o , m á s a po yo . N u n c a e xc e da la c ap a c ida d m á xim a de c ar g a . E s t e 
pr o du c to  e s t á d ise ñ a do  s ó lo  p ar a u so  in te r n o .

C A UT IO N

AV V ER TE N Z A
Q u e st o  p r o do t to  è  s t at o  p ro g e t t at o  pe r  e ss e r e in s t al la t o  su  pa re t i  d i  le g n o   o m u r i  in  
c a lc e st r u z z o . P r im a de l l ' in st a l laz io n e a s sic u ra r s i c h e la su pe r � c ie d i a pp o g g io so st e n g a i l 
c a r ic o  c o m b in a t o de l l ’a pp ar e c c h io  più  i l su pp o r t o . N o n  s u p er a r e m a i la m a ss im a c ap ac it à d i  
c a r ic o . Q u e s t o pr o d o t t o è d es t in a t o so lo pe r u so  in t er n o . 

T h is p r o du c t w as  de s ig n e d t o  b e in s t al le d o n w o o d st u d w al ls an d so l id  c o n c re t e w al ls .
B e fo re  in s t al l in g m ak e s u r e t h e su p po r t in g  s u r f ac e w i l l  s u pp o r t  t h e  c o m b in e d lo a d o f t h e
e qu ip m e n t  an d h a r dw a r e. N e ve r ex c ee d t h e M a xim u m Lo a d C ap ac it y . T h is p r o du c t  is
in t e n d ed fo r  in d o o r  u s e o n ly. U s e o f t h is  pr o d u c t  o u t do o rs  c o u ld lea d t o  p ro du c t f ai lu re  o r  
pe r s o n a l in ju r y .

A D V ER TE N CIA
E st e pr o d u c t o  e s t á d is e ñ a do  pa r a s e r in st a lad o en  la s p ar e de s de m ad e ra  o  pa r ed e s de  
h o r m ig ó n . A n t e s d e la in st a lac ió n , as e g ú r e se  de  qu e la s u p e r �c ie  de  ap o yo  p ar a so po r t a r la 
c a r g a c o m bin ad a de l  e qu ip o , m á s a po yo . N u n c a e xc e da la c ap a c ida d m á xim a de c ar g a . E s t e 
pr o du c to  e s t á d ise ñ a do  s ó lo  p ar a u so  in te r n o .



-2-

1

2 4

-7-

2

3

4
4
4
4

F
G
H
I Spacer

ID Description
1
2

A

3

B
C

1
2

4

2

4

4

Wall plate
Bracket
Safety bolt

M4 mm×25 bolt
M mm5×25 bolt
M ×25mm6 bolt

M8× mm25 bolt
Qty

D 4
4E

ID DescriptionQty

E FA-D HG I

Square washer

Long bolt
Wall anchor

Long bolt washer

4 1 Bubble level



-6- -3-

Wood stud

G
F

2

1

3

Stud r

2 50mm)”(

Φ 3/16 (5mm)”

3

M a g n e ti c

L ivel la
N ive au
Eb e n e

N ive l
N íve l

B u b ble le ve l

1a
Wood Stud Mounting
Montaggio su parete di legno
Monté sur un mur en bois
Montiert auf Holzwand
Montado en la pared de madera
Montado em parede de madeira

Fissaggio piastra a muro e piastra TV
Fixation à la plaque murale et plaque de la télévision
Montage Wand-Platte zu TV-Platte 
Montaje de placa para pared y placa  para TV
Montagem placa de  parede e placa de TV

 

 



-4- -5-

G
F

H

2 (50mm)”

Φ 3/8 (10mm)”

.

Square washer(E)

Small hole for
M4 screws

Medium hole for
M5 and M6 screws

Large hole for
M8 screws

E

A-D

I

C o n c re te W al l
M u ro  d i c em en to
M u r e n b é to n
K o n k r ete W an d
P ar ed d e h o r m ig ó n
P ar ed e de c o n c re to

 

              

M a g ne t i c 

L iv el la
N ive au
Eb e n e

N ive l
N íve l

B u b ble le ve l

Concrete Wall Mounting
Montaggio su muro di cemento
Montage sur mur en béton
Konkrete Wandmontage
Montaje en pared de hormigón
Montagem em parede de concreto

 

1 b
Aggancio schermo sul supporto 
Fixation sur écran
Befestigen Sie die Halterung des Bildschirms
Coloque el soporte de la pantalla
Coloque o suporte da tela

Attaching Brackets To Screen
2


